

Region: 2

Location: NY013

CSS #: 25297

Maximo Work Order No.: 14936

Asset #: NA

Date Issued: 10/14/21

Original Description: Replace two toilets in OMS. 1 in female latrine and 1 in men's latrine

Repairs Needed:

Tidewater proposes to replace both toilets and flush valves.

RS Means Line Buildup and Labor Summary (Data Version 2017, Q4):

Quantity	Line Item Number	Description	Labor Hours	Labor Rate/Hr	Materials	Equipment	Total
--	NA	Materials (see attached detail)	--	--	\$2,228.84	--	\$2,228.84
--	NA	TW Labor (includes diagnostic)	10	\$80.00	--	--	\$800.00
--	NA	TW Coordination	4	\$80.00	--	--	\$320.00

Estimate Summary:

Labor Hours	Labor Cost	Material Cost	Equipment	Total Cost	CE Factor	Total Estimate
14	\$1,120.00	\$2,228.84		\$3,348.84	90%	\$3,013.96



Cart

Item	Quantity	Total Price	Item Availability
 SLOAN Dual Flush, Sensor, Two Piece, Flush Valve Toilet, Elongated Item #5NFL3 Your Price: \$860.88	2	\$1,721.76	Expected to arrive Fri. Oct 15 using standard ground shipping (additional shipping options available at Checkout.)
 GRAINGER APPROVED Gasket, Fits Brand American Standard, Sloan, Zurn, For Use With Urinal, 1 1/4 in Item #22UR75 Your Price: \$2.27	2	\$4.54	Expected to arrive Fri. Oct 15 using standard ground shipping (additional shipping options available at Checkout.)
 HARVEY Wax Ring, Fits Brand Universal Fit, For Use With 3 in and 4 in Waste Lines, 3 in, 4 in Item #2WY63 Your Price: \$2.56	2	\$5.12	Expected to arrive Fri. Oct 15 using standard ground shipping (additional shipping options available at Checkout.)

 Chat with an Agent

**GRAINGER APPROVED** Wax Ring,

2

\$6.92

Expected to arrive **Fri. Oct 15** using standard ground shipping (additional shipping options available at Checkout.)

Fits Brand Universal Fit, For Use With Universal Fit, 4 in x 3 in
Item #444K75
Your Price: **\$3.46**

**KISSLER** Bolts, Fits Brand Universal Fit, For Use With Universal Fit, 2-1/4 in
Item #14U362
Your Price: **\$1.47**

2

\$2.94

Expected to arrive **Fri. Oct 15** using standard ground shipping (additional shipping options available at Checkout.)



Chat with an Agent



